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> is the king of the dinosaurs and the most famous. It looks like a big lizard
with sharp teeth.

Read.
What dinosaur is it?

From nose to ’rail is as long as a school bus. 12 meters long!
It is taller than a house. 4 meters tall |

It weighs more than an airplane. 6000 kilos!
head was as long as a kitchen table.

It eats large animals. It has got 60 teeth!

Some of the teeth are as big as bananas.

psmnds on two strong legs. It also has got two small arms.
s Tail helps keep it from falling over.




The T- Rex is the king of the dinosaurs and the most famous. It looks like a big lizard

with shar'

From ’r T-rex is as long as a school bus. 12 meters long|
It is taller than a house. 4 meters tall |

Find 6 body parts

It weighs more than an airplane. 6000 kilos!
T-r'ex's was as long as a kitchen table.

It eats large animals. It has got 60 teeth!

Some of the teeth are as big as bananas.

T-rex stands on two strong I‘r also has got two smal I
Its tail helps keep it from falling over.




What
can you see?




a head
a hose
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What's next?




a head
a hose

teeth

legs

a tail

It's got 60 sharp
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It's got a big
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It's got along
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It's got 2 strong




Make a sentence



I't's got




. Guess



The BANANA is the king of the dinosaurs and the most famous. It looks like a big
BANANA with sharp BANANA.

From BANANA to tail, T-rex is as long as a BANANA bus. 12 meters long!
It is taller than a house. BANANA meters tall !

It weighs more than an airplane. 6000 kilos!

T-rex's head was as long as a BANANA table.

It eats large BANANA. It has got 60 teeth!
Some of the teeth are as big as BANANA.

T-rex stands on two strong BANANA,
It also has got two BANANA arms.
Its tail helps keep it from BANANA.
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Answer or do







ESL Classroom | Lesson plans | Online activities

Young Learners

Nudopmauums [Sl

CLASSROOM

— Jlo6aBuTb onucaxue

m BKoHTakTe ana coobujects
- MoneszHan uHbOpMaUMa No ynpaeneHno coobLiecTeom Bbl nognucaHbl ~

https://vk.com/public199859341



